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DURG : Paper Second : 2017 Annual
Organic Chemistry

Time : Three Hours] [Maximum Marks : 33

(i) NH, (HO (SO,  (v)BC,

() TR 7 ¥ R F AR K BC), , BeCl, aur NH, #Y sivan
T TR | What is hybridization ? On the basis of
this hypothesis, explain the structure of BCI,, BeCl, and NH,,

() Frw wq= il (w1 49) - |
(i) PCL,7 N ENCI, 7 | (i) O, 31y sIggrhim B ¢ |
(ill) C =«Ca Tl C — C o C = C F+a Tl A s &

(iv) H,O srma ®or & art NH, & snda R s €
Give the reason : (i). PCI, is formed, not NCL,.
(if) O, molecule is paramagnetic.

(iif) The bond angle of H,0 is less than bond angle of NH,,.
UNIT - 3

(1) wRwy T fifore -
(i) H,O smt wefr H,S A |
(i) TR el i gorn A fRrada § sama afts gt 2
- (it =k of @ o=l B 8 )
Give reasons : (i) H,O is liquid but H,S gas.
(i) Density of glycerol is higher than ethy! aléohol.
(iii) lce is tlight weight than water.

(@) arew ol el wed € 7 woms Tt ) $Q afesfaa ey srar @ 7
(e Titaor ) | What is lattice energy ? How is
lattice energy determined ? (Give formula only).

(/) wfcrs s ¥ dve niew w aRaRe |
Explain the band model of metallic bond.

OR

(1) - YA S Y IREAOT At TR, |
Explain Born-Haber cycle giving suitable example.

(@) Feaferfaa w feoafinl fafae : (i) andamess (i) oo Prme (jii) Breen
e W Fraw (iv) st @y
Write notes on the following : (i) Semiconductors (ii) Fajan’s
rule (iii) Radius ratio rule {iv) Lattice defects
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UNIT - 4
(a1) FrefrfRea % o sue Hiftrg (@ @) -
(i) R gl 1 O s s A AR o dan |
(il) R g wee oA 6 o s st R )
(iii) & g aftreer sl dfves @t 2
(iv) o e sl & s orreun A v vl el )
Explain the reason of the following (any three) :
(i) Alkali metals give blue colour in liquid ammonia
(ii) Alkali metals are strong reducing agents.
(ifi) Alkali metals form mostly ionic compounds.
(iv) Alkali metals do not occur in free state in nature.
(%) FPrafofaa %t wRor afa aaemg ;. hitp:/prsuonline.com
(i) I el & wvm s e g = @ )
(ii) srpfer & e A wrqoniow A 8 )
(ili) H, 1oy ava S &, Reeg He, 78|
Explain the following with giving reason :
(i) First ionization potential of noble gases are very high.
(ii} Noble gases are monoatomic in nature.
(iii) H, molecule exist but not He,.
OR
(%) Forarol v @ o F W & 9 SRTRY W | What do you
mean by diagonal relationship ? Explain with suitable example.
(¥) XeoF, T XoOF , $ Teaqr St aAqnT |
Explain the structure of XeF, and XeOF,.
UNIT - 5
(3) TR ) S O A ) SRR |
Explain the structure and bonding of diborane.
(W) Friofea = s : (i) sl e & it g & oheor @ o
g HNO, v wd vt e srenn & 9
(i) FAFR 7R 1 A TS Tl |
(iif) forerera Toreet o o TR R Rl |
(iv) St 3w 6 g A srftres Bt 8
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Explain the following :
(1) Before analysis of third group basic radicals, why dit HNO,
is added followed by heating the solution.
(ii) Chromy! chloride test of chloride radical!.
(iil) Relation between solubility product and ionic product.
(iv) Borazine is high reactive than benzene.
OR

() R AFFE R E 7 CIF, @& IF, fi e sneme | What
are inter-halogen compounds ? Explain the structure of CIF,
and IF..

(%) Prafifra & @ - (i) TRmE T (i) sl e (i) g
sfiwaf®  Explain the following : (i) Common ion effect (ii)
Interfering radicals (iil) Group reagents
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